CHAPTER 2

Safety

Short Answer Key
1. Monoxide
2. Orange

3. Data sheets

4. Personal protective equipment

5. Negative, positive

6. B

7. D

8. D

9. C

10. D
Expanded Answer Key

1.
Carbon monoxide is a colorless and odorless gas formed during combustion that can cause illness and death. 


2.
High-voltage wiring is indicated by orange colored conduit and connectors.


3.
Safety data sheets provide information about how a chemical should be stored, handled, and disposed of. 


  4. Personal protective equipment are the items you wear to -prevent injury while working in the automotive shop. 


5.
When disconnecting a battery, disconnect the negative terminal first and then the positive terminal.


6.
Two technicians are discussing shop chemicals PPE: Technician A says wearing mechanic’s gloves prevents skin absorption of chemicals. Technician B says that a respirator should be worn when -working with certain chemicals. Who is correct?


a.
Technician A


b.
Technician B

c.
Both A and B


d.
Neither A nor B


7.
Technician A says that prescription eye glasses will protect you against shop hazards. Technician B  says that work boots must meet the ANSI Z.87 safety standard. Who is correct?


a.
Technician A


b.
Technician B


c.
Both A and B


d.
Neither A nor B

8.
All of the following statements are correct except:


a.
Long hair can be caught in moving machinery.


b.
Always use jack stands to support the vehicle when lifting with a floor jack.


c.
Common aerosol chemicals are often flammable.


d.
Waste oil and antifreeze can be disposed of in the same container.

9.
Technician A says that corrosive wastes include items such as car batteries. Technician B says toxic wastes, such as used coolant, must be collected for recycling. Who is correct?


a.
Technician A


b.
Technician B


c.
Both A and B

d.
Neither A nor B


10. Technician A says that the SDS enforces the employee Right-to-Know standard regarding shop safety. Technician B says that OSHA is responsible for environmental safety regulations. Who is correct?


a.
Technician A


b.
Technician B


c.
Both A and B


d.
Neither A nor B

